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[ESM431] _______ is the thin layer of the atmosphere that protects it from radiation.
Ozone layer

[ESM431] The proportion of freshwater that is mostly stored underground as 
groundwater  is _______.
0.006

[ESM431] It is estimated that approximately________ of forest are being lost without 
being replaced each year.
7.3 million hectares

[ESM431] Which of these is not a source of Chlorofluorocarbons (CFCs), Halogenated 
fluorocarbons (HFCs) and other Ã¢â‚¬ËœhalogenatedÃ¢â‚¬â„¢ gases?
decay of plant and animals

[ESM431] On the basis of ________, the atmosphere is composed of the troposphere 
stratosphere, mesosphere and the thermosphere.
temperature

[ESM431] Green algae and plants create their own stored fuel by using the energy from 
sunlight to turn carbon dioxide and water into _______
simple sugars

[ESM431] Which of the following is not an important reason for water conservation?
harvest fish and seafood

[ESM431] Ecological Studies have shown that given the state of the environment, and 
the number of people on the planet, a sustainable fair share footprint would be 
________
1.8 global hectares per person.

[ESM431] Which of these is not an alternative energy source?
fluvial

[ESM431] All of the following are types of anticipatory control of individuals and 
organizations except ________.
outright acceptance
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